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INSTBQQ_'IJ‘Z QNS TO CANDIDATES

1. Wﬁte_ycur-lndex No. in the boxes at the top right-hand comer.
2. Do not turn over this page untit you are told to do so.

3. Follow all instructions carefully.

4. Answer ali questions.

5. Use a 2B pencil to shade your answers on the Optical Answer Sheet (OAS).

This booklet consists of 20 printed pages.
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For each question from 1 to 28, four op
your choice (1, 2, 3 or 4) and shade

your answer on the Opticai Answer Sheet,

BP-~843

tions are given. One of them is the carrect answer. Make

(56 marks)

 ;

Which pair of things is not classified cormrectiy?

Living thing

Non-living thing

(1)

(2)

(3)

4)

Which animal has pupa as a stagé in its fife cycle?

frog

chicken
masquito
grasshopper




BP-844

Study the diagram below.

Living thing l

Canit make
s own food?

Does it have
moist skin?

What could PP be?
(1) bid
(2) plant

{3) mamrnai
(4)  amphibian

Tne diagram below shows a hammer.

hammerhead

Metal is used fo make the hammerhead because metal .

(1) sinks in water

(2) does not break easily

(3) canbend without breaking

(4y  does not allow light to pass through



5

A. B and C ars stages in the life cycle of a plant.
<3
B C
Which of the following correctly shows the correct fife cycls of the plant?
(1) (2)
A /
B | »| C B L, C
(3)

4
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] Which organ system is shown in the diagram below?

{1 skedetal system
2) muscular system
(3)  respiratory system
4@ circulatory system

7 Which one of the following is not a source of heat?
(1) The Sun
(2) Acandle flame
(3) A woollen shirt
(4) Alighted bulb

8 The diagram shows a magnet brought near a glass block.

glass block i magnet E

What will happen to the glass block?

{1) Itwill not move.

(2) itwill move up.

(3) K will move to the left.
(4) It will move to the right.
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Look at the_ picture below.

Which one of the following explains why Sue can see the book on the table?

. ———p——— Direction of light

(1) (2}

{3} ? {4)




10

11

Rina places a metal spoon ina cup of hat tea.

a cup of hot tea

The spoon becomes hdttér'aﬁer a while. Which one of the following explains this?

(1

@
@)
4

The cup loses heat to the hot tea.

The spoon loses heat to the hot tea.
The spoon gains heat from the hot tea.
The hot tea gains heat from the spoon.

Study the flowchart below.
Does tmake | No_ Ca&zthgi::e " No [ 4
its own faod? h
: microscope?
Yes :
Yes
3
Doss it produce | No ;
flowers? » C J ‘ B
Yes
D
Which of the following correctly represents A, B, C and D?
A - B . C D
{1) cat bacteria femn durian tree
(2) bacteria ‘cat mushroom . apple tree
(3) bacteria monkey fern durian free
(4) cat mushroom ~ apple tree bacteria
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13

Study the life cycles of animals Eand F.

24
(3)
“)

Larva

Adult

‘ij
2 days Pupa ‘

Animal E

F lives [onger than E.
Flays more eggs than E.

Adult

BP-~849

Egg

Kdays

8 days

The larva of E mouits but the nymph of F does not.
F took more days than E to become an adult after the eggs are faid.

Nymph

Animal F

Based on the above life cycles, which of the statements about animals E and F is correct?
(1) | | |

The diagram shows two substances which are transported in the stem of a plant.

The arrows show the movement of the substances in the stem.

Leaves Stem

*  Roots

Which of the following correctly shows the two substances?

—— Substance A

e e Substance B

Substance A Substance B
(1) water air
(2 -food alr
@) water food
(4 food water
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Tina made some observatio

missing plant part.

ns about plants W, X, and Y. Each of these plants has a

Plant

Observation

W

The plant is not able to bear fruit,

X

The plant is not able to make food.

Y

The plant is not able fo be held firmly to the ground.

Which of the following shows the missing part of each plant?

W X Y
—'6) T flowers leaves roots:
2) flowers roofs. leaves
3} leaves flowers roofs
@) roots “flowers leaves
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Shanti conducted an experiment using two set-ups, A and B, as shown below. The two
set-ups were placed near a window at the same location. After three days, she recorded
the amount of water feft in the measuring cylinders.

i 11- i originat = -&— - -
- water level —

_,4/ \"‘ A
iy | T~ final —50_ i} . _
| 1 water level -

o oo
set-up A set-up B

Based on the set-ups shown, Shanti was frying to find out

(1) the stem of a plant takes in water

@ plants need roats to absorb water

(3)  water is required for the leaves to make food

@) the number of leaves affects how fast a plant absorbs water
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16  The diagram below shows a developing sesdling.

Part X

Which of the graphs correctly shows how the mass of part X and Y changes with time?

(1) Majsls ()

2) Mass{g)
, F 3

Yg;‘l’ime'(days)

- 10
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17 Which of the following graphs cdrrecﬂy sﬁows thé amount of undigested food feaving the
mouth, gullet and stomach? . ‘

{1)  Amount of undigested food

ol ﬂ4 .

" mouth  gullet stomach

%)
- ( ) Amount of undigested fQOCi

ﬂﬂﬂﬂﬁ

mouth gullét stomach

(3}

Amount of undigested food

H I

mouth  gufiet stomach

(4} Amount of undigested food

i

mouth  gullet stornach

11




18 The diagram below shows the human digestive system.

Which of the following statements about P.Q and R isfare correct?

A Foodis mixed with digestive juicesin Q.
g There are no digestive juices presentin P.
C Undigested food is absorbed into the blood at R.

(1) A only
{2) B only
{3} Aand C only
(4) B and C only

12
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19 Candy placed four materials A, B, C and D each into a beaker filled with 200 mi of water
as shown below. Each material is of equal size and thickness.

200 ml

of water

After five minutes, she removed all the materials from the four beakers. She then
recorded the amount of water left in each beaker as shown in the table bslow,

Beaker containing | Amount of water left in beaker
material (mi)
A 195
B 65
¢ 8
D 155

Which of the material should she use to wipe a table fully dry?

(1)
(2)
)
(4)

OO WP

20 Which of the following materials can be separated from paper and giass when a magnet

is used?

(1) steel

(2} copper
{3) plastic

(4) aluminium

13
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21  The diagram below shows fwo bottles containing substance X and Y. Substance Xisin

the solid state and substance Y is in the liquid state.

substance X

_substance Y

| \Which of the following shows the correct observation when the two bottles are tilted?

(1)

(3)

14
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22 Ely has two different objects A and B as shown In the table below.

; Mass of object Volume of object
Object
e (@) (cm®)
400 250
350 250

BP-857

She placed objectA into Beaker Xand object B Into beaker Y. Both beakers contain 200 mi

of water.

Which of the followmg statements is correct after she has placed both objects into the
beakers?

(1)._.

@

@

4

18

200mf of
water

Beaker Y.

The fotal mass of the object and water in both beakers Xand Y is the same.

The total volume of the object and water in both baakers X and Y is the same.

The total mass of the object and water in beaker X is more than that in Beaker Y.
The tofal volume of the object and water in Beaker Y is rmgre than that in Beaker X,




23 Faye has a container with volume of 300 cm. The container is filed with 150 cm? of
water a$ shown. .

air pump

300 oy container

4— 150 cm® of water

Next, she uses an air pump and pumps five ﬁmés into the container.

Which of the following correctly shows the change in the vqlume and mass of air in

the container?
Volumé"of air Mass of air
" No change Increase
@ increase Decrease
3) Decrease Increase
(4)‘ No change No change B

24  Three pieces of wax are stuck to different parts of an iron ring as shown below. A heat
source is placed near the iron ring.

Wax A

jron fing
Wax B -

heat source “Wax C

Which of the following shows the correct order in which the pieces of wax melted?

1) AB,C
@ B,CA
3) B.AC
@ C,BA

16
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25 Peili has a magnetic whiteboard as shown below. She uses. the fip of the pen to draw on
the screen.

magnet at the
screen filled with tip of the pen

powdery substance

Which of the following statements explain how the magnetic whiteboard works?

A The powdery substance is a magnetic materiat,
B The magnet at the tip of the pen repeis the powdery substance.
C The magnet at the tip of the pen atfracts the powdery substance.

(1) A only
) Bonly
3) Aand C only
(4} BandConly

17




26 Magnets are used to stroke two identical stee! bars, P and Q, so that they become
temporary magnets. The directions of siroking are shown in the diagram below.

bar P bar Q

Based on the above diagrams, which of the following arrangements is/are possible?

A B - C
W X w X X Wiz Y
Y Y YA
yA
(1) Bonly

{2) A and B only
(3) Aand Conly
(44 A, BandC

18
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Gillian wanted to find ouf how the distance between the light source and the object affects

the size of the shadows.

She sat-up the experiment as shown below and only moved the abject while keeping the

forch and screen at the same position.

forch

object screen
Giliian recorded her resuts in the table below.
Distance X {cm) | Distance Y (cm) Shadow
8 12 A
14 8 B
10 10 Cc

Arrange the size of the shadows from the smallest to the largest.

(1)
(@)
(3)
(4)

ACB
B,C A
B.AC
C.AB

19
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28 Alan, Betty and Caleb conducted an experiment using two beakers, A and B, containing
- different volumes of water as shown below. Both beakers were initially at room
temperature. They were then heated until both reached 80°C. :

I
1
{

- -
— — -
— "

—

— water

!
1
!

water — 1=

‘The three students each made a statement at the end of the experiment.

The water in beaker B The water in beaker A The water in beaker A
gained heat slower than took a longer time to has more heat energy
the water in beaker A. reach 80°C. than beaker B.

Betty

Whose statement(s) is/are correct?
(H) Alan only
(2} Betty only

(3)  Alanand Galeb only
(4)  Betty and Caleb only

END OF BOOKLET A

.20
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INSTRUCTIONS TO CANDIDATES
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2. Do not turn over this page until you are told to do so.

3. Follow all instructions carefully.

4. Answer all questions.

This bookiet consists of 13 printed pages. ‘




For questions 29 to 42, write your answers in this booklet.

The number of marks avaitable is shown in brackets [ }at the end of each question or part question. '

(44 marks)
26  The diagram below shows an animal. 121
T
7 N ,
/4 ' N
o
Tick () two comract boxes.
This animal is an insect because it
] canfly
[J haswings
[l has6legs
[] has 3 body parts
30 The diagram below shows a caterpillar.
caterpillar
leaf
Fill in each blank with a suitable word. 21
(a}  The caterpillar needs food, water ad _______ . stay alive.

(b} " The caterpillar eats leaves and becomes longer after some time. This shows that it

mn T L 1y s ————

SCORE
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31

33
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The picture below shows a cup of hot coffee.

Circle the correct state for the following things.

(a) Coffee: Solid / liquid ¥ gas {1]
(o) Cup: 'Solid / Equid / gas 1

Two magnets are placed fogether as shown below.

Magnet 1 Magnet 2
AN

R QP

The north pole of magnet 2 s labelled P.
Name the poles labelled R and Q of magnet 1. : ' 2] |

R:

Q

The diagram below shows a frying pan. ,
plastic handle

metal pan

(a} The handle is made of plastic because itisa __ —_ Conductor of heat. 1]

(b} The pan is made of metal becauseitisa ____ e, COnductor of heat.  [1]

SCORE




34  Study the flowchart below.

Animals

-

Produce mitk for
their young

A

(a) Which animat groups do A and B represent?

A

Do not produce mik

|

Have moist ski Have dry skin
ave motst§ in with scales
amphibians | B |

B:

(1]

Animat C is an insect that has a four-stage life cycle. The graph below shows the mass of

animat C during the different stages of its life cycle.

mass of animal C (@) 4

» time (days)

(b}  Which part of the graph, W, X, YorZ, represents the pupa stage of the life cycle?

Explain your answer.

12

SCORE
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Paul has four pieces of bread W, X, Y and Z as shown below.

Bread

W L.

X

v

| Temperature

Size of
bread

T

p

o
IR S

TN

R
L]
L

Amount of
water added

Added 5 mi
of water

Toasted

Toasted.

of

syrrounding

2°C

30°C

2°C

(@) On which piece of bread would Paul observe the least amount of mould growing on

it? Explain why.

T S e

affeéts the amount of mouid growth?

{c} Name another living thing which belongs to the same group as bread mouid. [1]

Bread —— and Bnead‘_.:___?___

e e T e T

(b} Wﬁicﬁ two pieces of bread should he compare if he wants fo find out if temperature

BP-867
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36 The diagram below shows how three. different organ systems in the human body work

together.
>N
LI |
[}
¥ 3
L
1 [}
¥ h 4 1
Digestive » R A -
systom System P r _________ » SystemQ
Legend
i . - .. } = Path taken by food
--~--~» Path taken by air
(a} identify systems P and Q. | M
System P : _
System Q :

(b) According to the diagram above, explain how the digestive system and system P
work together to provide the body with energy? 2

BP-868
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37  The table below shows the propertiss of materials P, Q and R. A tick (v) shows that the
material has the property. '

L i

‘ Does it break . .
Material | easily when waﬁ;fp';‘o o D"“i:g;’?a“’“ Is it flexible?
dropped?
B v "
Q s
R v v

{a)  Describe material P.

(b) State the differsfice between materials Q and R.

1

[1]

The diagram below shows a water hose.

{c) Based on the information in the table, explain why material Q cannot be used to make
a water hose as shown above.

[l

SCORE
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38 Indra wanted to find out ¥ the number of fimes he crushed a piece.of biscuit affects the time
taken for the biscuit to-be digested. He crushed a biscuit five times and placed it in some
digestive juice as shown below. He meastured the time for the biscuit to be digested.

——— digesfive juice

[+ -
e .
93? crushed pieces
W of biscuit

other similar pieces of biscuit. Each biscuit was
e recorded the time taken for the biscuits to be

indra repeated the experiment with two
crushed a different number of times. H
digested in the table below. -

- Number of times Time taken for the biscuit to be digested
piscuit was crushed {seconds)
5 56
10 42
15 28

Based on his results, what is the relationship between the number of times the

(a)
biscuit was crushed and the time taken for the biscuit to be digested? i}
(b) ~ State two variables that indra should keep constant in his experiment to ensure a
fair test. 11
{c} From the result of indra's experiment, explaiﬁ how chewing our food before
(21

swallowing helps in digestion.

SCORE




39  Devi placed four plants in identical jars, A, B, C and D, containing the same amount of water
as shown below. She then placed the four sef-ups next to the window for one day.

cardboard it
support / !
layer of oil

water —
W

setupA - setupB - . setupC - setupD

-(-él} " After one day, Devi measured the height of water, A, in each jar.
"~ Her measurements were 15 cm, 17 cm, 18 cm and 20 cm.

i which sef-up, A, B, C or D, was the water level 15 cm? Give a reason for your
answer. ' 21

(b} Which two set-ups should Devi compare fo show that roots of the planttake in vra{er?
| [1
Setup - and set-up _ —

{Question 39 continues the next page.)
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Devi conducted an experiment on fwo similar slopes, A and B. She grew some plants

on slope A

Slope A

soit coliected at bottom of the' slopes

e A than B. Expiain

(c) After a heavy rain, there was less soil collected at the end of slop
i2]

why.

BP-872
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40 Zaharah wanted fo filf up an empty bottle with orange juice using a funnel, as shown below. |

funnel . orange juice
— tightly sealed cap
botite
(@) - After some time, Zaharah noticed that the juice stopped flowing info the bottle

through the funnei even though the botfle was not completely filled.

Give a reason why the juice stopped flowing, | (]

B e T e R Sty Syt b

‘ (b)  Without changing the set-up, what can Zaharaii do io allow the juice to flow through

the funnel into the bottle faster? 3!

{c) Explain your answer in part (b). _ 7 2]
SCORE

' 4

10
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41 Dennis wanted to find out if light travels in a straight line. He condugted the éxperiment in
a completely dark room. Objects A and B are made of different materials and have a hole

of the same size.
Opaque Transparent
fit candle
(a) Dennis lita candle in a dark room. Why is he able to see the candle flame? i

(b} Dennis shifted B to the right such that the holes do not align anymore. Will he be able
to see the light from the fit candle? Give a reason for your answer. M

(c} Describe what Dennis should do to correctly demonstrate that tight travels in a straight
21

line?

SCORE

1



Mrs Tan made some hot tea. She powred the tea continuously back and forth from cup P
e cup Q, as shown below.

The temperature of the tea in cup P aiter each pour was measured énd recorded. .

(a}  Siate what is meant by temperature. M

{(b) . Explain how the pouring action resulted in the change in the tfemperature of the tea.
' {2

( Question 42 continues the next page.)

12
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The change in temperature of the tea in cup P after six poursis shown in the graph
below. '

Temperalure
of fea ("C) 4

Lad

» Mumber of

BP-876

L | . ] | i ]
— T 1
1 2 3 4 5 6 pours
Based on the graph, sta‘;e the relationship between the number of pours and the
temperature of the tea. '. (]
END OF PAPER
SCORE
4
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Q29 Has 6 legs
Has 3 body parts

Q30 a) | Air

b) | Grow

Q31 a) | Coffee — Liquid

b) | Cup - Solid

Q32 R: north —pole
Q:South —pole
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Q33
a) | Poor
b) | Good
Q34
a) | A: mammals
B: reptiies
b) | Y. The mass/weight of animal C remained constant /did not
change. The pupa does not feed.
Q35
a) | Z. It has the no/least/less Water /moisture and the
surrounding temperature is the lowest/lower.
b) | Bread Xand Z.
¢) | Mushroom / Yeast / Toadstool /puffball .[Fungi : worng]
Q36
a) | System P : circulatory system
System Q : respiratory system
b) | Food is broken down into simpler substances / digested
and absorbed into the blood to be transported to all parts
of the body.
Q37
a) e Does not breaks easily when dropped / strong
e Is not waterproof/absorb water
e Floats on water
¢ Flexible
b} | Material Q does not break easily when dropped but

Material R does.
R breaks easily when dropped but Q does not.




(Must have comparison)

It is not flexible.

b)

The greater the number of / more times the biscuit was
crushed, the shorter / lesser the time taken for the biscuit
to be digested.

Mass of biscuit /type of biscuit /size of biscuit/amount of
biscuit/Amount/Volume of digestive juice/type of digestive
juices.

Chewing breaks up the food into smaller pieces,
increasing/more the surface area of the food in contact
with digestive juices, hence, increasing the rate of

digestion.

Q39

b)

Set-up A.

The plant has the most number of leaves, thus most
amount of water is taken in / absorbs most water by the
roots to make food / for photosynthesis.

OR

Set-up A.

The plant has the most number of leaves, thus most
amount of water (vapour) is lost through the (tiny opening)
in the leaves.

Set-upAandC

There were plants/more plants on slope A so the roots of
the plant hold the plant firmly to the soil on slope A.

BP-879
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Q40

a) | Air occupies space in the bottle.

b) | Lift the funnel from the bottle.

¢) | Air can escape from the bottle.

The juice can take up the space in the bottle previously
occupied by air / the juice displace the air in the bottle and
iuice pushes the air out of the bottle.

Qa1

a) | The lit candle gives off light and light enters his eyes.

b) | Yes
Light from the candle can pass through transparent object
B.

¢) | Change object B to an opaque material (with the hole).
Move /shift object A/B to the left/right.

Qa2

a) | Temperature is a measure /measurement how hot
something is.

b) | The pouring action increases the exposed surface area of
the tea, increasing the rate of heat loss from the hot tea to
the surroundings.

c) | As the number of pours increases, the temperature of the

tea decreases.




